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General Instructions:

1. The paper has 14 questions.

2. All questions are compulsory.

3. Section A- Question number 1 to 2 are one-mark source based
questions. The answer to these questions must not exceed 10-15
words.

4. Section B- Question number 3 to 9 are two-marks questions.
These are very short answer type questions. The answer to these
questions should not exceed 30 words.

5. Section C- Question number 10-12 are four-marks questions.
These are short answer type questions. The answer to these
questions should not exceed 80 words.




6. Section D- Question number 13 and 14 are six-marks questions.
These are long answer type questions. The answer to these
questions should not exceed 200 words.

@s: T Section: A

1. gt S § & 9IRa # IRuRe aenfes sgaeyr snfa @@
I gHe F 3¢ g warfoa g1 afteer smyfas aReea & snfa
IR Aifa & dow A cgrEar FA §U AR & gl § 7=
TARAT OF YHR & 0T & AT g B (1)

(@ PR 1977:57-70)

3Fd did & IR W Arafaf@a vea & seaw Afde--

Sifa TeEfa & fFE 9oR & wnfaa s 82

“Everyone recognises that the traditional social system in India was
organised around caste structures and caste identities. In dealing with
the relationship between caste and politics, however the doctrinaire
moderniser suffers from a serious xenophobia.”

(Source —Kothari 1977:57-70)
Based on the above source answer the following questions---

How does caste influence politics?

2. 7R H w&T IO Fust F a7 3R a1 3pamy ik i afa
¥ I 3R o FRET aTer seAn F qRa F @ a9 I F
91E AR & ATHIOT AT FT AT THEAT & 34 Wl § & 39
$T HIAT H §@A §C AHT FRRT F H9 FALIT SHTqE FI
BISHT Tl FTAT Y& FT f&m| (1)

(@Y-- ARG HT ForaAr RAE 1911)
3UFT AHTe8E F FUR W Aff@a ma & sew -

TN FEG3HT F 3 F FAT ARAT ST Y 1 FIHT?
3ufadeae & IR & T aEor FRERT o 5 fGer & 3
qurg # gfafdd faan?

“The extensive importation of cheap European goods and utensils, and
the establishment in India itself of numerous factories of the Western



type, have more or less destroyed many village industries. The high
prices of agricultural produce have also led many village artisans to
abandon their hereditary craft in favour of agriculture.”

(Source-- Census Report of India 1911)
On the basis of the above paragraph, answer the following question-

Did Indian industries benefit from the arrival of European goods? What
occupation did rural artisans change to as a result of colonialism?

&g €I Section: B

3. FifdeR WHASF Nelee WHATAE FaUl & e FIAOT HT
YA #8919 TS Fedl W ATUFR & G@r’T T A aedfldsw
Fifa fOE SR F HIGTT FI& AFIAET T HY FYTGAT HT qodT
A H AFH elele Sl SHADNI 8 FAAAT U7 T
HAFINAT Fr ge=T TES & )
39FT HJde F IR W fAmafaf@a weat & e -

A FIfaFR e FT 872

B. &Y HifderY Qe & A fod?
“Reformist social movements strive to change the existing and political
arrangements through gradual, incremental steps. The Bolshevik
revolution in Russia that deposed the Tsar to create a communist state
and the Naxalite movement in India that seeks to remove oppressive
landlords and state officials can be described as revolutionary
movements.”
On the basis of the above paragraph, answer the following questions—

A.What is a revolutionary movement?
B. Write the name of 2 revolutionary movements.

4.“9qHel FIA AT §A Holqul I S J7AA A GHAFHS HolgY (Peelsl
aR) FET TR sHFT HF TaaAar A¢ 8 sEF RAwld awew
mwm%%aﬁﬁam@%wm#aﬁwaﬁm
m*mmmwwmmam% (2)
39dFd IeTeoe & IMUR W fAeafaf@a weat & seav ford-—
A. SHFHS ASGY I IFTUROT frae § §7?
B. gAFH3 ATy # Fia-Hla H wwwanw §2
“These migrant workers have been termed ‘footloose labour’ by Jan
Breman, but this does not imply freedom. Breman’s (1985) study shows,



to the contrary, that landless workers do not have many rights, for
instance, they are usually not paid the minimum wage”

Based on the above paragraph, answer the following questions---
A. Who has given the concept of ‘footloose labour’?

B. What are the problems with the ‘footloose labour’?
5.9 RTHAHIOT & Hadd g Fea ufhar Fr rgara §2 (2)

What are the various processes that we adopt under Westernization?
6. HITAT WiAST Y Fed TATATHT HT JIHAT HIAT ST 87 (2)
What are the problems faced by coal miners?
7, g aRadd g o e # iaw o (2)
Distinguish between social change and social movement
8. AT WATS 3 FEHfa & womerar 150 @il & fafeer et &
IROMTATIRT FAT IRadeT gu? (2)
HYdr
IrefAhel & ATURS dea FT 82
What changes took place in Indian society and culture as a result of
about 150 years of British rule?

OR
What are the fundamental elements of modernity?

9. garfod a1 $r RAAvar o (2)
Highlight the features of the organized sector.
Fsdl Section C
10. AT WATT H AT 8T F9T FT 3SEIT F W qUIT FA (4)

Describe the emergence of new regional elites of rural society with
examples.

11. ffeer sitq@ieor #1 sra & Fo &6 & i awor R
YHR §I;T? (4)
ryar
tafaafs 1 & ARG F TIIFOT 1 9FRAT H FHT TFR FT
gRade g3m?

9
How did British colonialism lead to de-industrialisation in some areas
of India?

OR



What kind of changes took place in the process of urbanization of India
during the colonial period?

12. @i &<t Far 37 WRE @ & s F swaww w
yFR & gaRa &Far? (4)

What is Contract Farming? In what way did Contract Farming affect
the Indian agricultural system?

@s ; Section: D
13. g e fF e YHR FT el g2 el #r syfAar
FT qdieTor Hfw? (6)

What type of movement is the Chipko movement? Analyse the
importance of Chipko Movement.

14. gSATl ATemad) ¥ 7T yHR Ao 37 #A9S Squena A &
FIIRE AT TET AT FT G0 (6)
AYgdar
ATSC T3¢ { AT AT 82 S &9 H ‘AT & Aarhdy &
TROTH FET fF 9HR & aEfee aRade ge §2faager &1
How is strike different from lockout? Describe the main demands of
the workers of Mumbai Textile Mill..
OR

What do you understand by 'Night Out'? What are the social
consequences of ‘Time Slavery’ in the IT field? Discuss.



